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QUESTION 1

Which mode will shut down a process? 

A. EXEC 

B. ADMIN 

C. CONFIG 

D. ADMIN-CONFIG 

Correct Answer: D 

 

QUESTION 2

What is the TRACE command? 

A. A packet tracer showing the path of a packet from ingress to egress in the router. 

B. The replacement for TraceRoute in IOS-XR. 

C. A form of always-on debugging available for a subset of commands. 

D. Exactly the same as the debug command, must be explicitly turned on. 

Correct Answer: A 

 

QUESTION 3

Which command is used to configure an interface that does not currently exist in the system? 

A. interface preconfigure 

B. preconfigure interface 

C. interface vrf preconfig 

D. controller preconfigure 

Correct Answer: A 

 

QUESTION 4

What is currently required for eBGP sessions in IOS-XR that was not required in IOS? 

A. Default MED values 

B. Local-Preference values 
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C. Send Communities 

D. Route-Filter In and Out 

Correct Answer: D 

 

QUESTION 5

One of your peers show in the SHOW BGP VPNV4 UNICAST SUMMARY output What is the cause of this? 

A. The label value ranges are mismatched. 

B. The peer has no prefixes with a Route-Target that the local router is importing. 

C. The BGP prefixes between the routers have not fully converged and will correct itself in time. 

D. The peer router is not configured to use the VPNv4 address-family for this connection. 

Correct Answer: D 

Latest 500-230 Dumps 500-230 VCE Dumps 500-230 Study Guide

Powered by TCPDF (www.tcpdf.org)

Latest 500-230 Dumps | 500-230 VCE Dumps | 500-230 Study Guide                                3 / 3

https://www.geekcert.com/500-230.html
https://www.geekcert.com/500-230.html
https://www.geekcert.com/500-230.html
http://www.tcpdf.org
https://www.geekcert.com/500-230.html
https://www.geekcert.com/500-230.html
https://www.geekcert.com/500-230.html

